B3, NEOEERFICED 5 E MOV TREE RO E R ERA

x1 BEER

n %
R B8R 24 60
i (B) mean (SD) 34.2 (40.1)
BEEL EEA 15 375
BERE B2 6 15
4| 6 15
FREEER 5 12.5
HILER 3 7.5
7o fi 2 5
SEER - EEmE 1 2.5
ficofeid 1 25
BaREA 1 25
ZGEER B - ik 16 40
BEHEENMEG 6 15
w75 BEENME 5 12.5
25 5 12.5
EYRAR - 350k 4 10
L] 2
RBE 2
ABeH# (B)|mean (SD) 13.9 (13.1)
Fly »HY 8 20
PICUAZE HY 24 60
ABzRTPCPC 1 40 100
BFEEFPCPC 4 1 2.5
2 2 5
1 37 92,5
< 2 EREERE O NG
FEB ABTHARE (B) E#EEEE(M)
n Median IOR Median IOR
BN 2 27 19.5-34.5 3,312,350 | 2,119,825-4,504,875
ESes] 2 12.5 11.25-13.75| 1,362,000 | 1,136,250-1,587,750
BEHEEENMS 6 10 6.5-30 1,007,450 | 551,275-1,987,200
B - &% 16 8.5 7-11.25 749,200 | 631,100-1,030,600
|77 BEENMS 5 6-16 740,100 | 426,600-1,810,200
20 5 7-14 595,100 557,100-614,900
EY)FRER - SR 6.5 4.5-18.25 585,600 | 514,975-1,648,575
(% 40 9 6.75-14 749,200 | 542,950-1,393,425
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* 3 MHRERE O AR5y

=10 (OB EHKRAL @B TR IS D - 12
fERE (h) (M) BRI (h) I (M)
Median  [IQR] Median Median  [IQR] Median
R 8 [2.5-28] 14,904 2.5 [0-16] 3,815
0 [0-28] 0 75 [2-45] 11,445
RIE - BIESEED 19 [4-53] 35,397 10 [3.5-66] 15,260
ABR1BH & 7= Y nfflEE 5,154 1,653

(1) MEBE=-LF2RALKRE *TFIRHGES 1,863 (2HE)
(2) MEE=-LFUN TR ICH D - B *FHKRES 1,526 (RERTT)
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* 4 MRERE OISR

=31 (D)EEERATL QRN TRYMCH D S 72
BsRA(h) (M) R (h) (M)
Median [IQR] Median Median [IQR] Median
R 0 [0-10] 0 2 [0-5] 3,052
0 [0-18] 0 8 [4-43] 12,208
Rk - BES L5 8 [0-28] 14,904 11 [4-60] 16,786

(1) MEE-HF LKA KRN *THRHAES 1,863 (2HE)
(2) FiEE =7 D1BITRDIH D - 1B *FHEHEES 1,526 (RERIT)
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& 5 EZIRERE O ABL/A KT

EiEEESE (M)

Median [IQR]
ABe4 | n=40| 23,000 [ [13,000-55,500]
&S | n=31 4,000 [1,000-15,000]
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